( 2017409R )

A% - ERMBEmH - T AMEBE S —

E & N B 20174 201 746
098 | RBi [AFEH(REHAH |
HEE | il I—PA T A 226 1232 205
EIFICBIT HHEM 29 192 32
FEBEERG|(-RI T 5185k 81 455 75
ERIECEi 3 53R 60 406 67
S ER (B SHEE 1 17 2
EEBEICEd S 5 30 5
F Db D E 60 426 71
U B 462 2758 459
=i EHEFCBT O EE 24 170 28
FEIRAIZETAEE 22 151 25
ERWECETHEE 11 73 12
BEERICEYTLEE 0 3 0
BEMECHTLEE ] 9 1
FOMDEE 21 74 12
(/A 19) 80 480 80
HotA | BEICETEHF 9 51 8
FRIGICET A0S 4 12 2
BHIERICET 2% 0 2 0
BEERICET S 0 0 0
BEMEICEHT 0T 0 3 0
T DHSE 0 0 0
¢ ED 13 68 11
& & 555 3306 551
(B%E MEEDORKR)
X % R B 20164
Rt | BFEY(REt12)
KizE IR T 2R E 2594 216
ENERIPA S HHREK 604 50
FEHE|IZBE T A4 1351 112
ISR HAEE 967 80
REER SR DR 29 2
REBNS IZRS T K 35 2
Fith DA 1156 96
v B 6736 561
=il | ENEEICEI T A EE 440 36
FEENEIZET R EH 448 37
BHE BT S ETH 191 15
BEER BT A EH 4 0
BEBE BT A EH 12 1
DD EE 131 10
G &) 1226 102
HoBA | HFEICETLIHF 112 9
FEME|<ET RS 37 3
EHRWNEIZ8T RS 2 0
BEERICET NS 0 0
BEWEICET A% 1 0
FDHDE S 0 0
¢h B 152 12
& &t 8114 676

GE) 1 HLEERE. RA4RTHS.
2. B (cEY, HE-BEH-HotA0EFRERICEMLTHLLTVWSEELNHS.



: il | &8 Toth 28
R4 W mat g | 2R | g | am | oro |REEY 5ov | |zom| ®

F)ax | T4 F42) R

R B ICPAT S 69 10 27 0 15 2 0 3 3 97 226

BEEICET S 8 7 11 0 7] 0 0 0 1 0 29

FEEIGICRT A 40 10 19 1 7 2 0 1 0 1 81

BBNECET AE% 29 3 9 0 1 0 0 0 0 18 60

rE SRR 0 0 1 0 0 0 0 0 0 0 1

g% BhE |- 9 548 4 0 0 0 0 0 0 0 0 1 5

F O DFEEK 8 3 1 0 0 0 0 0 0 48 60

[ 9] 158 33 68 1 25 4 0 4 4 165 462

=1l BT 5EH 6 6 6 0 3 0 1 0 0 2 24

5lICHd A 10 4 6 1 1 0 0 0 0 0 22

ﬁgﬂl:gtﬁ 8 1 1 0 0 0 0 0 0 1 11

5 3 Fﬁl:g%fa 0 0 0 0 0 0 0 0 0 0 0

SRBEICHTAER 0 0 0 1 0 0 0 0 0 1 2

FDhoE 10 3 2 0 1 0 0 1 0 4 21

[ 19 34 14 15 2 5 0 1 1 0 8 80

HotA %&M 5 1 0 0 3 0 0 0 0 0 9

N R i 1 1 1 1 0 0 0 0 0 0 4

BLECET NG 0 0 0 0 0 0 0 0 0 0 0

ERICET A% 0 0 0 0 0 0 0 0 0 0 0

AEBEICET oS 0 0 0 0 0 0 0 0 0 0 0

Foh0HE 0 0 0 0 0 0 0 0 0 0 0

[T 19 6 2 1 1 3 0 0 0 0 0 13

SEt 198 49 84 4 33 4 1 5 4 173 555

(#$F 20174E0F (20174048 ~ 20174E00H) Ri)
= | Bl | B EOH Wil
E4 W et | o | BR | ms | wm | oo (YEEY 57 | ma |zom|

F8 | FUNR F4F) iR

B | B | C B3 S48 8K 363 91 173 6 82 6 2 12 11 486| 1232

%EI:ET%JE Fl 49 44 73 1 8 1 0 7 4 5[ 192

L EE R 240 48 84 9 35 5 0 4 6 24 455

FEALEE(CRA T D HEE 159 28 50 0 18 1 0 2 3 145| 406

OB (SR HAEE 0 0 4 0 0 0 0 11 2 0 17

BEENE T S8 18 0 0 0 0 0 0 0 0 12 30

F DRI 81 8 11 3 13 1 0 1 1 307] 426

[ 39 910  219] 395 19 156 14 2 37 27 979] 2758

=i [HER 55 44 39 0 14 1 6 2 4 5 170

SlICT A 78 22 28 6 7 6 0 1 3 0 151

!gmﬂl:ﬁ‘ﬂ 34 7 10 0 4 0 0 1 0 17 73

IR 0 0 0 0 0 0 0 3 0 0 3

4 0 0 1 0 0 0 0 0 4 9

FOMOE 29 5 12 0 3 2 0 2 1 20 74

[ 200 78 89 7 28 9 6 9 8 46 480

HotA |BIEEICET RS 15 13 13 0 6 2 2 0 0 0 51

5|[cRIT 2% 4 2 5 1 0 0 0 0 0 0 12

N Y e 1 1 0 0 0 0 0 0 0 0 2

e SRR A 0 0 0 0 0 0 0 0 0 0 0

BEMEICET 2% 3 0 0 0 0 0 0 0 0 0 3

FDDHE 0 0 0 0 0 0 0 0 0 0 0

[ 53] 23 16 18 1 6 2 2 0 0 0 68

& 1133 313 502 27 190 25 10 46 35| 1025 3306

(i) 1. B EH#IE, BAHRTHS,
2. REICEY, BB B Hot AT ERICERLTHLELTV OB ENH S,



2. FEICLY, BB BH-HoBADTATICERLTHLELTLWAIRENHS.

X5 A& = k=9 EA &t
R [N SERY R 119 94 13 226
EhEE (B9 4R 16 9 4 29
S E s | I—BAd A 44 36 1 81
BIEANE(CRE T AHEE 28 31 1 60
Eﬁ:!ﬁflr e 1 0 0 1
G E T 2 3 1 1 5
%UJ th D #8 #% 31 23 6 60
(M ED 242 194 26 462
EiE BT IEE 11 13 0 24
SEIEIcETEER 11 11 0 22
BEEANECETIER 8 3 0 11
& HERAICET A58 0 0 0 0
RENEICEAT AR 1 1 0 2
%coﬂﬁm%ﬂr 13 6 2 21
SHA (: 6 3 0 9
SEINEERY e 3 1 0 4
ERNECET NS 0 0 0 0
BEEAICET A0 0 0 0 0
REMEICET 8% 0 0 0 0
TOHDNSF 0 0 0 0
3 [G5)) 9 4 0 13
&t 295 232 28 555
(P 2017450 (201746048 ~ 20174E098) R
X5 A& ] k=9 kA Bt
fEEE | BIEICERY H4EE 706 484 42 1232
gﬁi S ERAL R 98 83 11 192
SEEIRGIICR T 5185 247 194 14 455
HAUTE(CEIT HHHEE 235 161 10 406
HREAIZBEY HHEH 10 6 1 17
BEBEICET 518 18 11 1 30
F Db D FEEH 231 158 37 426
¢h BD 1545 1097 116 2758
=i BBCETAEN 86 83 1 170
B ICET RS 89 61 1 151
!%mglzﬂafréﬁﬁ 52 21 0 73
EEERAICETAE 2 1 0 3
BRBEICEETAEN 5 4 0 9
FOHMOERE 46 23 5 74
[T5) 280 193 7 480
HhoEA |EEICET NS 26 25 0 51
SRRy 8 4 0 12
BUBIZET 0% 1 1 0 2
BAERICHT 5inF 0 0 0 0
AENEICBET 20F 2 1 0 3
%w*moaﬁ% 0 0 0 0
(/M ED 37 31 0 68
=111 1862 1321 123 3306
GE) 1B EEHE. 2EAEETHS.




